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In the given diagram : [ '
L. Rectangle represents persons sho know English

II.  Tnangle represents persons who know Marathi.

M. Square represents persons who know Telugu.

V. Circle represents persons who know Hindi. ficiency among the
The regions labelled from 1 to 12 represent various combinations of language prof!

individuals.

How many individuals can speak Egglish exclusively ?

12 —> English (3T)
Marathi (803h) 4
3
6 /3
9 - -
8 11 Hindi (&
10
—> Telugu (7FT)
(A) 19 (B) 5 8 ©) 17 (D) 12

&

Ife s FHT A, F, K, P, %,ﬁémwwm?

i hat comes next ?
If the sequence of letters is A, F, K, , W
(A) T (B) U d ©C) Vv (D) W
3 Frey 1 e e st el Ger i e et & 5 fo o i g v e vy 3
Select the opt?on in which the nun@ers share the same relationship as that shared by the given pair of
numbers.

185 : 199
(A) 126:134 (B) 178: 187 (©) 139:153 (D) 89: 106

& fifira @i #, ‘LEARNING’ &Y ‘160’ & &9 § foran smar & | 39 #1e § "PREPARATION® %3 forar
SI@T ?

In a certain code, ‘LEARNING”’ is written as ‘160’. How will ‘PREPARATION® be Written in that code 7
(A) 248 (B) 124 (C) 266 (D) 133 '

T i s
S i



S, PR st 2 sfif iy e 7 ST TR B st et s &, I e

Arrange the following words as per their order in an English dictionary and choose the on® t

Hardboard; Handspring: Handover: H““ds@(
, C) Handst board

(A) Handover (B) Hnndsl’r""!lo"fca RS ) e
6.  smen g ifv <

Complete the series. %

2,6,12,20,30.42, | 4

— Y 49 D) 51
(A) 65 (B) 56 © S > Frefat@d
I FAE R R H x IFaf g g, hraf e, a

7. UﬁH*laﬂuﬁf%H,lftmt;H-lrﬂw&f%H.
FafermwranidfF) pRIAR?

If H + 1 means H is the sister of I; H N
which of the following means that J is the daughter of P! .
(A) P-QxJ-M (B) P+Q—jx% (C) P-QxJ+M (D) PxQ-J+

ﬁf&mﬁwﬁﬁ%agwaﬁqahﬁqm@a‘PARANORMAL’%HF&EWWW@WWW*
%

FE ST ST T | .
Choose the word from the given altemati&s that cannot be formed using each letter of the given

‘PARANORMAL’ only once.

(A) NORM (B) PALM
FET | TN G §1d i |

Find the missing number in the series.
20, 35, 60, 105, 190, :

(A) 225 (B) 280 (C) 560 (D) 355
frafafea & @ wi-ar s 7o, 95 3R o & i & ey ) oo e e g eiar 2 0
Which of the following diagrams best illustcrates the relationship between Earth, Sea and Sun ?

(A) (B) ~ o OO
Cg @g ° O a

A
— ] means H is the brother of I and H x I means H is the mother ©

word

(C) ROAR (D) RARE

@ 1 /\

Q\T(']’Wﬁ%ﬁm Rl M

(A) S (B) Few & © ¥

Lion is to in Den as Spider is to _ % (D) W (Is)
(A) Web (B) Hill = © Tree

ﬁmzoﬁ.@ﬁwmgamg,mmm%m (D) Shed
| ¥ e A et & 3k 40 o, ot R 1 B sy s 0T, o R, Rt and syt 2 o 30
(A) SO B) 707 (C?%?,?wi‘%? et o Sy

(D) 65t

—————
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gﬁfzﬁﬁi’@mwé
1.

Y AT @AY | : maintains the e
Study th s - caref: . swer figures e -
y the provided figures carefully and choose an option from the answer next \
pattern observed in the problem ﬁg\n"cs |
(+) 4| (¥) )4 ( ()
I € 1€ | I G G ) I CYT
I 11 111 v A% 08
(A) H) (B) (?) <o) ){( (D) )f(
L] F@ e |
14. @WWI’WQ@N@TWW%WE@@TW Wﬁ’ﬁm
arsfre 9 o fra e it st 2 2
A) (B) ufEm (C) =fam (D) N
A cyclist rides 12 kilometres west and then turns right and rides 7 kilometres. In which direction 1S the -
cyclist now travelling ? E
(A) East (B) West offC) South (D) North —;
15. UF &l § &1 [X & SHEl & 9 ¥RH A, B, C, D%&i )
gftomy T A ﬂasr—g IWEC | JWED .
. . 17. =
2T it & Sl Se 28 B | 17 27 |
A > 14 12]F | 8 13
Sfer e ade & 3ol s ® ’
srefaTiies dte o il aifer 6 17 9 15
1T T 7 ST 9T =
21w # It S 64 55 46 76
mmﬁammﬁmmmm
(A) FHEA (B) @B ((C) ¥|AC (D) W D
A school has four sections A, B, C, D of Class IX sgalents
Result Section A Sc%gon B ! Secuon C Secuon D
Students failed in both exams 28 ri‘ i 17 21 |
Students failed in half-year Ta | « | o |
tudents failed in half-yearly 14 @h 13
but passed in annual exams ) ; -
Students passed in half-yearly 6 17 T 9 15 | .
but failed in annual exams ! -
Student passed in both exams | 64 5.1 46 76
- _\
Which section exhibits the highest pass pcl‘&emdgt in either Of the two examinations ?
(A) Section A (B) Section B (C) Section C (D) Secti D/
______________________________________________________________ €ction D D
D.ZU-24 Pagedof24 T TTTTTeeeeee ..
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16. mmmaﬁﬁqaﬂtmm%ﬁaﬁaﬁﬁw

; . t
Study the graph and find what is the maximum percccfjgc increase of tea from

next year.
2023 pRmrRRa :g
2022 D
........................... ®
01 P
2020
o R R
15 20 25
2020 2021 2022 20
.r milk (T9) 14 15 16 w
'S coffec (FTE) [ 14 13 16 %7
[l tea F1) 13 15 17 2§g
(A) 10% (B) 30.25% (cN17.65% (D)  20%
17, @ e W1 1 IwE 0 frefead st ST 4 X I T 8, X >y ZuIT 8,

e FraEgiaT e #R e+ <+ R aEaT e |

Simplify the following expression using the given code language, where ‘+ represents ‘X', ‘X’ represents
‘—*, ‘—’represents ‘+’ and ‘+’ represents i o
9+4-6x6+38
(A) 16 (B) 8 ©) 12 (D) 24
18, e e gf S fog g e Y STHY T e |

Choose the next figure that continues the pattern.

O&

O | KO RB (Y re
KRR - :
% Y L] |
(A) 060 (B) % ((® (D) %
::j:;; :,: o (B) 52° (©) 352

-
-
S-a
-
-



21.

22,

23.

24.

28.

20.

STIFTE (FE-T) P Srrare
ST (R ? o : )
A) U ) (B) g ?) ©) i () (D) qag'a‘(a?.'l"ﬁ) 6.

If you have a regular en : ) at shape is |
ol S pentagonal prism#and you slice it parallel to its bases, wh he

(A) Hexagon (B) Rectangle od (C) Square D) Pentagorn
ST T ST T 37677 B 9 []
What comes next in the sequence ? ®)
A.C.E.G,
A) 1 (B) H ©) 1 @) K

gfg%ﬁgmmﬁlmﬁmwwmﬁw e gt e s e A 8 | T AL, g
’ T A & for fohe et ot etem =nfew 2

a7t Tt o 3 s e T, gty o gy e w1

(A) 83RK B) 33K ()  (C) 83NE (D) 33RE

Four_ cards are placed on a table. Each car@Mas a number on one side and a letter on the other. The cards
on display show 3, 8, E and K. Which card®hust be turned over to satisfy our requirement ?

“If a card has a vowel on one side, then it hag,an even number on the other side.”

(A) 8andK (B) 3andK (C) 8andE (D) 3and E

[
T Ageh! st R 3 Fd g fafte e g)ae gt Bt frar ot seelielt e it &t @ 17 fafem fi o=
TTadT 1 39 ASh! & T T & ?
A) & (B) @i (C) =m (D) &&
Pointing towards a girl, Vipin says, “This girl is the daughter of the only child of my father.” What is the

2

relation of Vipin’s wife Parvathy to that girl ?

(A) Daughter (B) Mother ol (C) Aunt (D) Sister
T I : g

ST : BIERITEHT :: ATHHIHT : ? o ,
(A) T (B) W  of (C) e (D) TR 2
Complete the analogy : Q

Camera : Photographer :: Microscope : ? [] |

(A) Architect (B) Chef @) (C) Pilot (D) Biologist

S iR ke T F § 2 o

(A) S o Shed § (B) a1 g & ®iw Ad & 3
(C) aHTALATE (D) At Wt &

How are dolphins and whales similar ?
(A) Both have scales
(C) Both lay eggs

(B) Both breathe air
(D) Both are fish



26. TR o & gt (griew) i e fifie |

Count the number of triangles in the given figure.

ol
(A) 12 (B) 16 ()18 (D) 10
(52 ]

ol
27. Rt dQ, ve P sraen B qu A | %

Out of the figures given, choose the one that will completg the series.

cinicinicl

(A) ® | N © ||| (D)
28. = H ¥ foem 3o il o3
Find the odd one from the following : O
| | &
o
od
(A) (B) (Cg | (D)
29, 1 srrgta i foha TTad & 2
How many rectangles are there in the given figure ?
0%
O
(55
o
(A) 13 (B) 14 ((‘“15 D) 17
30. H@eT H ST HEA F1d Hifsa | <]
Find the next number in the series. l ]
62, 55,48,41, @)
(A) 34 (B) 32 (C) 38
-------------------------------------------------------------- (D) 3¢

-
-
-
- -
-
-



31. 3 Hfer o, weedt st (x)ﬁmmwam_mmmmm% I
Find out which of the figures can be formed from the pieces given in the first figure (X)-
] X -
(X) O
o
o
(A) & (B) w (C) (D)
2. SR AN NPt ordsmaiFda
C hooss the letter pair which is different frd@others in the group.
(A) GB (B) TO (C) OK (D) MH
33. H¥@TM:3.5.11,29.83, -
ST H ST HeqT 11 'y 0
Series : 3,5,11,29,83,
What 1s the next number in the series ?
(A) 283 (B) 253 o3 (C) 233 (D) 245 ;
3. TS S A TGS i T el FeB aitr z 96 of | wifs, 4 3 AT S S TR ™
B F T 4 HARE 1 ANEH AT TLT | AT €T A1 1t ST hF weeam 4w ot 2
A few students went on a trip and the to ount planned to be spent was T 96. However, 4 students did
not turn up and as a result the remaining stdents had to contribute ¥ 4 extra. The number of students whe
attended the trip was :
(A) 8 (B) 10 ©) 12 (D) 6
35. IR sER-eE R E, S @ f enem- -foreft w7 8 v 99 ¥, ol O svae sem @) faw
FE-HE 1 T |
Four letter-clusters have been given out of which three are alike in some manner, while one is different
Choose the odd one.
(A) HILN (B) PRTV (©) OQRT (D) BDFH
36. famm @Al
Find the odd one. o
elelek
od
©) (D)
O «[AF O
o <
37. UwuEmwi 6w A, B, C, D, E, F 1B, Bﬂ:?'? s C, B *’t‘ffm% ' A3 C frafea T2 | E, C
FER D, AR aA R F, A F R ITEX F‘*Ba:‘. ! ‘:'3“'““‘} -
A familv consists of 6 members A, B, C, D, E, F. B 1s the son of C, but C is not the moth,
e m:rried couple. E is the brother of C. D is the daughter of A. F is the brother of A_ Hzl;vorf;lgt.lAfandlC
; o y female
members are there in the family ? .
(A) 1 ® 2 © s (D) 4
DzUSy T Page8of24 T TTTTTeee—eo

35
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38.

39.

40.

afe 6 ATt i €90 R, q 10 sy FY FHTFATR 2

If the cost of 6 mangoes is 90, what is the cost of 10 mangoes ?

(A) T120 (B) %130 o (©) %150 (D) %160 3@
qmtrﬁrang!mt1,764=ﬁ€rarﬁmfamﬁﬁﬁmmm%.ﬁr@aﬁmwﬁas%mﬁémma'
YR At 18 iy et ot 2 ound interest

A sum of money is paid back in two annual instalments of ¥ 1,764 each, allowing 5% comp

compounded annually. The sum borrowed Was :

) ) : C%\f’"
C 3R B © &1 #) A lgﬁﬁaﬁ;24ﬁcﬁq5(m% | 3R 8 Reft eveh wan rer ey fopen 3T TR
T | B399 HE b e Rt A qu ey o2
1 o 8 1 feq : o
@A) st ® sifr oy © 83 (D) 10 e
C and B can do a work in 18 d:ys and 24 dayf’] respectively. They worked together for 8 days and
C left. In how many days did B finish the remTinfng work ?

(€) 3,200 (D) %3,240

1
(A) S days B) 5L days ® (©) 85 days (D) 10 days
: - sig fa
41. A 3R B Y UH HE 1 75 it o e & | IR O AT T O T e A 3 g T G 90
3R B A 3 i 23 fat & o fowam Aiwﬂﬁﬁﬁ%%ﬁe‘ﬁﬁ%mmﬁm?
(A) 26f (B) 19fF () 18fA (D) 25fA .
A and B each can do a work in 75 days. They began the work together but A left after some time f;nd
completed the remaining work in 23 days. After how many days of the start of the work did A leave ’
(A) 26 days (B) 19 days o8 (C) 18days (D) 25 days 3
42, U aEg Y Hwd A 25% e AR TeqeITd AT 20% HeT farm T 3 R 10% s fea T | v hAd
afeomft afg w2 2 - .
The increase in the price of a certain item was 29%. Then the price was decreased by 20% and then again
increased by 10%. What is the resultant increase jn the price ?
(A) 5% (B) 10% <r ©) 12.5% D) 15%
43. ST T 180 i et 3t % 280 Sf freiiymt <t arelt a1 weR it = t forw siara # fremn s e
T firsror Y = 320 Wi fehetiom o s ST W 20%% &1 T & 2
In what ratio must the two types of tea at T 180/kg and ¥ 280/kg respectively be mixed so that the obtained
mixture sold at T 320/kg earns a profit of 20% ?
(A) 3:13 (B) 4:13 ©) 1:14 (D) 2:13
ﬁ aﬁ % ma a’T : T 3 ¢
44. A it B FAfd I 2 3%sﬂtw%qAﬁnawamu§a%ﬁBm%qrmmg
15 fore sifireh @ e & | u&A%q{Twﬁﬁwam,ahsﬁq\&masﬁﬁmmwmv
5 fore B) 35 : '
(A) 225 h (d) i g ©) 21.5Fme D) 45 fFe
The ratio between the speed of travelling of dBis?2:3 )
the time taken by B to reach a destination, Ifﬁad walke.d atal r(f) tgle refl"re A takes 15 minutes more thay
taken to cover the distance ? 3 J uble the speed, how long would pe have
A) .22.5 mintues B) 35 mi S .
(A) (B) 35 mintues (C) 21.5 mintues (D) 45 mintues
45. @Wﬁmmws%mﬁmam@m ST 2 | vt e i
A sum of money becomes three times at 5%, p er)ann . . BEIUA) %{?3’( %6 ‘I:" _
times in the same time ? um simple interest. At what rate % will it be i 5
(A) 10.5% (B) 14% © 11% COme six
b T e T (D) 12.5%



46.

47.

48.

49.

S1.

52.

5 8

ﬁmﬁﬁaﬁqﬁwqmwﬁsaﬁﬁmmﬂm%ﬁwﬁ3aﬂ%mmwﬁ%@§$§;‘”q&ﬁ

[-1-1983 %1 % 380 wfa ure & 30 1-10-83, 1-10-84 3T 1-10-85 T 7 40 27

1-1-8 i '
6 T ATrarer S &, ot e iy wre et T s e 2 2 the last 3 years of j 54

A man’s pension on retirement from service is ¢ ¢ average salary during

service. His salary from 1-1-1983 is ¥ ;;l(:;u n?(‘::tli:.ov\}:i:lhf itr}:cc'r:mcmgof? 4l;)ydue on 1-10-83, 1-10-84 g,
1-10-85. If he retires on I-1-86, what pension does he draw per month ?

(A) 205 (B) 7215 (C) 7225 (B e
afe farelt @@ 1 700, 0.35 . @ 39 dEA H 120% 1 Ao |

If 70% of a number is 0.35, then find 120% of that number. .

(A) 6.4 (B) 7.2 (C)B6.0 (D) 06

T SR 3 250, &1 T it ) & # Fute 3t A wfFa g3 T
i e i fere, e o i it sifee A1 L

A trader marked the price of a commodit ' :
' ; y to include a p¥ofit of 25% but allow
marked price. What will be his actual profit ? "

(A) 16% (B) 25% (CK]S% (D) 9% )

T fhare Rgardt &Y 30 wiftat 3 R sectarsht aft 40 |mqﬁ%azafuw%wmalm”i

mﬂ'%%%ﬁaaﬁmaﬁmmmma -8 TRt 7 39 38 T 2 | A1 FaeiTSl T
FTR? .

16% 1 2 +ft #,

ed a discount of 16% on th

The batting average for 30 innings of a cricket player is 40 runs. His highest score exceeds his lowest scor 36.

by 100 runs. If these two innings are not included, the average of the remaining 28 innings is 38 runs
Then the lowest score of the player is :

(A) 19 (B) 18 (C) 20 (D) 17
e ot G ferdie w1k % 2000 ZRST A1 % 50 T g gt 0 & g ey Py A e R | IHE ST 3
m,aﬁmmwwﬁmwaﬁﬁm@aﬁiwaﬁaﬁﬁ%wmm|graf%

50% Tt i SRR T o mam o | i Fwfar wr feramaa gen e 2

A manufacturer undertakes to supply 2000 pieces of a’ﬁrticular component at ¥ 50 per piece. According
to his estimates, even if 5% components fail to pasiathe quality test, then he will make a profit of
25%. However, as it turned out, 50% of the comporgpts were rejected. Then what is the loss to the

manufacturer ? |]
(A) %24,000 (B) ¥26,000 (CBKT 28,000 (D) ¥30,000

T FCEIET 6,400 & T T T I 20% F1 € G | AN R HH T TR 2

By selling a car for T 6,400, Mr. Rao lost 20%. Then the cost price of the car is :
(A) %7,200 (B) %7,680 (C) T8,000 (D) 8,400

@gwq-&ﬁﬂt-sﬁm@qaaﬁneoﬁm%aﬂt( FoTFEA AR | IR TR e sgoF AT @ O

TEeh T JE 1 T AT €T 8 | TR I A A R

A used two-wheeler-dealer sells a scooter for T 460 an§,makes some loss. If he had sold it for ¥ 580, his

profit would have been double of his loss. What was thggost price of the scooter ?

(A) %520 (B) 540 (CPE 480 (D) %500

U 1 ur ¥ faradia 80 ferdt lbﬂ%ﬁ?ﬂﬂ.ﬂm%m 72%&? 12 déffaa?ﬁ% | R e d e iy 2
(A) 6.5 fei/der (B) 5.5 fafi/aeT (). Pt/ (D) 7.5 fFefi/sie

A boat goes 80 km upstream in 16 hou

water is :
(A) 6.5 km/hour (B) 5.5 km/hour (€) 6.6 km/hour (D) 7.5 km/hour

rs and 72 km doistream in 12 hours, The speed of the boat in still

57.

~

6!



84, umy Al niia @@ 0 " ERIRUE G ARLURR L LI\ (RTINS | —
¢ ' R [ \"” Y . .
LT IR EE R QN AINE ARIGE CIR W 1t feqy gy e, Sl *

('\) l " ‘a““ “"‘ (l‘) \ ‘-‘*u‘“"'," (( “ ) l‘ "‘\'" “'J\ ‘
I el e

| woand he
A person can tow 22 ki an hour i sl wake HIN g it ke him twy .|
CE AN long to row up as o

tow down the stream. The speed of the wlpenn in (‘”)
. |

() 70 log)

A) 12K \ " '
( m (1) Ve 2 o (M 1y ) ke
.‘ ‘ b A \ \‘
&8, " s x4 : A1 R aEda (He) Al SR \l
N
Find the HOF of l : ! i g ‘ @)
2 408

_ | | ) | Dy !
A 4 ® 3 ©) 60 ) 3%

g6, U wratera N afty vy ofv e & afd 1S afvr el W @ ol @ v wha ¥ Q) afy it
ﬁ%!imﬁsmummﬁ!ﬁtgﬂmwﬁ & QT AW T%mm*wsmwﬁ\?hm
wra e fob g A ke wlRa ) O

s in an office. 1115 Secedraries went on leave, then every Secretary

There are Senior officers and Secretarie _
at @Bleave and now every Senior officer has

has two Senior officers. After that 45 Senior officers we
5 Secretaries. Then find out how many Secretaries were there iMHally.

(A) 30 (B) 40 © 25 <] (D) 35
57. 285.510.1440mmﬂqwmaﬁmucl~‘)wml ]

Find the HCF of 285, 510, 1440. ®

(A) 14 (B) 15 ©) 16 (D) 17

58. unHR(maﬁmﬁﬁmﬂaﬁqaﬁmmmmwm%wéﬁ%Mﬁwam%?
(A) T 10 (B) TR 14 (C) TIT 18 (D) AT 25

Which article of the UDHR (Universal Declaration of Human Rights) guarantees the right to seek asylum

from persecution ? _
(A) ANKIC 10 (B) Al'llClL‘ 14 (C) Anlcglx (D) AﬂlClL‘ 25
59. uqdiu & qUi &9 . 1 b4
(A) M fonfa ettt @Raetidien @) Rt (F-afders TR
(©) At ke (T-Aa ) D) - i ({- R )
The full form of NPAis .
(A) Non-Performing Assets (B) Non-Public Assets
(C) Non-Package A.cuon (D) Non-gfom\ing Actions
60,  3ue R fne fordt & 9 e WA e R o
(A) WA (B) e (©) R (D) fR
In which district of Uttar Pradesh is the *Shera Dance® celebrated ?
(A) Amethi (B) Ayodhya (C) Lalitpur (D) Bijnor

ammmemm=m =TT - L e WSS EEE S e - .
- R it

D.ZU-24 Page 11 of 24



61. AT THIY Fieror yfater wifiy 1 g SRy T 2
(A) T ERRIRT & Iare g wfdsy
(B) 9T i1t o wriferqut S aht aqran 2T
(C)  ISIET TTHI] YRATTR Y 5 AT
(D) msﬁr@wﬁaﬁ:ﬁ%mwmﬁmwm

What is the main purpose of the Comprehensive Test Ban Treaty ? o
(A) Ban nuclear weapons production ( )
(B)  Promote the peaceful use of nuclear energy ¥
(C)  Reduce existing nuclear arsenals o8
(D) Ban all nuclear explosions for both civilian and military purposes od
62. 3T THR forwr 8 F Swerferait 3 fore wam fverr smar & 2 <
(A) &ad (B) (© PRm@es) D) @fed
Arjuna Award is conferred for achievements in the field of : ®
(A) Sports (B) Dance (C) Theatre (D) Literature
63. sfean fama shrem foraeht stemspenr 2 2
(8) TS 5ER (B) guIzam
(C) TS, Areamft (D) A FAH ATSE
‘India Wins Freedom’ is the autobiography of whom ?
(A) Rajendra Prasad (B) Subhash Chandra Byse
(C) L.K. Advani (D) Abul Kalam Azad

64. 2016 % farmsliahaor & a1 RBI 1 fifa wfrerr 500 3t 1000 ¥R % Fe wiw 5w ;’z
What percentage of 500 and 1000 rupees notes was received by RBI after thax@)16 demonetization ?

(A) 98.96% (B) 95.65% (C) 93.27% QD) 97.45%
65. 1993 & AT IRl W fag g v T YT 7T | ]

(A) TS =0T (B) dREETT )

(C) fawar=son (D) TR 3R weedy Tyoyy

The World Conference on Human Rights in 1993 adopted the .

(A) Amsterdam Declaration (B) Helsinki Declaratio
(C) Vienna Declaration (D) Helsinki and Amsterdam Declaration

66, For s et e 3 i o e st o s SURE s sy st
foru =it & sTmequr i sgmT ? O
(A) 42af gemea (B) 44af e (C) 73at wameA D) 793t Gy
Which Constitutional Amendment Act extended the reservation of sea@3for Scheduled Castes and
Scheduled Tribes in the Lok Sabha and State Assemblies ? o

(A) 42°4 Amendment (B) 44™ Amendment  (C) 73"! Amendment §D) TN Aerdresr

67. “Arew” 3ier G F forg Tea  feera 8 2 ®
(&) e (B) HfUIg (©) firsie (D) Frga
The “Loktak” lake is located in which state of India ?
(A) Meghalaya (B) Manipur (C) Mizoram (D) Tripura



(A) T (B) = (©) iy " i g e
The words “Unity and lntegrity of the Nation” in the Preamble " (D) W‘(
principle ? ' M 10 promote which fundamentl
(A) Equality (B) Justice (C) Fraternity s
69. @mm%a’[gﬁz%quﬁwﬁaﬁmgaﬁﬁ;m;::;ere\gmy
: T e et ' |
(A) Tham™ (B) T ‘:% i) (D) ®rras
___isasoftware program Bt m(ﬂ all the data coming through the Internet
. o ' C) Malware '
(A) Antivirus (B) Cookies ol ( (D) Firewall
ro. et e e e R e AR QT 3 T ST 3 R e

(A) arR wrew fraee @iE) (B) @ Jeafd
(C) e A S (D) TR aTasa (shfrm)
What is the term for the strategic use of soc©media
(A) Social media marketing
(C) Online chatting

71. T TS TR ?

platforms to communicate with an audience ?
(B) Social networking

(D) Virtual interaction

(A) SRR (B) WAl © fg (D) W
What is the capital of Bhutan ?
(A) Brasilia (B) Porto-Novo "% (C) Thimphu (D) Sarajevo
72,  WRA § G o T I FHATR 2 i;; .
A) w=Edg of  (B) TN
(©) 3w g et for o8 (D) TR §
Which is the longest River bridge in India ‘MZ:]
(A) Rabindra Setu [_‘:"] (B) Mahatma Gandhi Setu
(C) Annai Indira Gandhi Bridge @) (D) Bhupen Hazarika Setu
73. T 3 T e TS o el AT 2
‘ (A) I 1853 (B) 30TE 1998 (C) IS 1991 (D) &= 1995
When did the Government present the Kisan Credit Card Scheme ?
(A) April 1853 (B) August 1998 (C) July 1991 (D) November 1995

74. mWW%mmﬁﬁﬁWﬁmﬁMWmm?
(A) aﬁﬁ%@m%wﬁ 0)
(B)  @Tfeie Sferar SR )
(©) e wE T ST AR GRET TGP ﬁ
(D) dgﬁmw&ﬁﬁ%mmﬁ

How does the partnership between India andq ietnam change their regional security dynamics ?

(A) Through cultural integration L_
(B) By imposing economic sanctions ®
fence cooperation and maritime security

'f (C) By increasing de
. (D) Through joint nuclear programmes

D.7ZU-24
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75.

76.

77.

78.

ot

80.

81.

S 2024 T &1 G H et F Iqr £ 0

(A) TEA A (B) oo @3

() Ifa= Fsdiare (D) @ifaan it

Who is the Leader of the Opposition in the Lok Sabha as of June 2024 ?

(A) Rah}Jl Gandhi o (B) Mallikarjun Kharge

(C) Arvind Kejriwal ! (D) Sonia Gandhi

T AT [T ¥ Egh 4 & 9 by )
(A) mgﬂﬁ (B) fSramsd sl (C) & aqa (D) e
Who is the author of the book “Tughluq Nafha" 2

(A) AmirKhusrau  (B) Ziauddin Bafdni  (C) Ibn Battuta (D) Allen Zen
HALNT 378 ST T (IRENA) F1 T § 2

(A)  37eR (TRt St 3 Suaii ) sty 3t 2

(B)  forrersfict 2t 3 fore weroy st ety forasfrr st 2

(C)  IRENA TV Sl 1 3T 16T T e hfar aheeft 2

(D) g s 3 Sfareeft S aftiommedt 3 for Rt wraar vem st &
What does the International Renewable Energy Agency (IRENA) do ?
(A) Promotes the use of renewable energy

(B) Develops nuclear energy programmes for developing countries

(C) IRENA focuses on advancing nuclear power
(D) Provides financial aid for fossil fuelgdbjects worldwide

At sTTdaTe R yaTat % auea ¥ i R 9raT Y Rder wHT ST 2 2

(A) A (B) A ::; (ORELEE] (D) UNCCT
Which organisation is held responsible foggpordinating global counterterrorism efforts ?
(A) INTERPOL (B) NATO (C) World Bank (D) UNCCT
T TG, $TS, AT SIS T T AR ?

What is the GST rate for necessary items kike milk products, bread, etc ?

(A) 5% B) 18% @ C) 12% (D) 28%
AT O ATET & HHaGh AT R i 1 A1 foam 771 S 2024-25 7 € i B9 2 2
(A) TR T (B) 3 (C) e fie (D) A=

What is the name given to NASA’s manned landing mission to the Moon which is likely to happen ©
2024-257? .
(A) Lunar Gateway (B) Orion (C) ApolloRegained (D) Artemis
st ety ST fadet (ITERYg RS i Sew feferfia i sraerian wefvia sear
(A) Feit e o fere wwwTy] feraeT Q
(B) @ IWHW WW-WW%mﬁ?ﬂmﬁ
(
(C) 3~rd @R At renfirht o
(D) 3iafte-smeaTfa fersteft eame “511 -
The International Thermonuclear Experi l'] al Reactor (ITER) project aims to demonstrate the feasibil
of :
(A) Nuclear fission for energy productlo@g
(B) Fusion energy as a large-scale and car on-free source

(C) Advanced solar panel technology
(D) Space-based power generation



82. 14 mﬁﬁﬂ?gqﬁmm% 0
(A) T & faaw (B) T gaaren fzaa
(C) fou e feaw (D) $faa fram
14 September is celebrated as :
(A) National Hindi Diwas ' (B) National Voters Day
(C) World Cancer Day (D) Engineer’s Day
83. MTaHTST TRASHT fray wafua & 0
(A) @®uni (B) s (C) ward sEE (D)
The Bha als e aha ik el ,
The Barsmaia Pyt to: D) pupors D) e
84. mﬁam_mmmﬁm%mﬁmﬁmmh '
(A) et B) faref od(C) W(W?W; (D) %
Which of the following festival is known as the fe?{%val of Iigh'ts in India ?
(A) Holi (B) Diwali <{(Cc) Christmas (D) Eid
5. mmﬁﬁu%ﬁqaﬁﬁ%amwwqﬁaﬁmm%? |
(A) FEH (B) ®aT®H @)(C) TH (D) "@1fA %7
Which of the following type of tax is submitted in Indian GST ?
(A) Income Tax (B) Service Tax (C) Wealth Tax (D) Property Tax
6. ﬁm%iﬁaﬁ%%aﬁweﬁmgﬁwmmamﬁamﬁqﬁﬂﬁw ? .
(A) T et (B) FATErare Ae®
(C) TIHE arEdl (D) T T HIEA T
Who among the following first propounded the id@@of Basic Education ?
(A) Mahatma Gandhi ()(B) Jawaharlal Nehru
(C) Dayanand Saraswati ‘:é( D) Raja Ram Mohan Roy
§7. SR, 2020 — 21 F FHA-AT TST HATEH B TG IBE AT 2
(A) HEF WS (B) 3&H <|© afierTg (D) FAZF
In India, which state was the leading producer of tp_ifes in2020-217
(A) Madhya Pradesh (B) Assam (@(C) Tamil Nadu (D) Kamataka
88, o “eTEReen Fewefdn 7 e ST (qrife AT T F1 SR $ 2 2
(A) TEHH B (B) 3reufa T (€) faea (D) T ==
Who is the recipient of the first-ever ‘Lifetime Disturbing the Peace Award’ ?
(A) Salman Rushdie (B) Arundhati Roy (C) Joe Biden (D) Rory Stewart
89, wad W AT e I U R
(A) o (B) T 2B(C) (D) oS FE
The Indian state with the lowest sex ratio is : £
90. %@;{rag)% AR o ﬁ(u e Pradesh (D) Arunachal Pradesh
(A) D= S(HEH)/ W (@) <](B) D = S(¥1) / N ()
(C) D =NEE /S O™ D= SEmw) /s @)
Density of a population (D) is : ®)
(A) D=S(size)/ W (weight) ~(B) D=S(space)/ N(number)
_____ © D=Numben/Space) D) D= 86/ Sispacey
D.ZuU-24 I aa S




91.

92.

93.

9.

9s.

96.

AT SrERfireht a1 wehtartoT SR 3 Ticifeh gean @9 1 & Fordr @ ?

(A) wHT e @1 sgra gu arafaes @na W 3 vam Fh

(B) AT H&TT AT Y srravaahar &l 78 a0 WHIW

(C) AR 3 For avrol antar e s s e e TS 1 qEAATET T

(D) 9&E 3R e ufsarady § qum #eh

How does the integration of biometric technology enhance India’s internal security framework ?
(A) By providing real-time location tracking cmincing overall surveillance

(B) By ecliminating the need for human sccurit& dcrsonncl altogether

(€) By reducing paperwork and streamlining aﬂ’ginistrativc processes for citizens

O,
(D) By improving identification and vcriﬁcatiop?rocesses

1928 ¥ IRl Feamre i1 I e frm a2 ||

(A) eTeT Tieft @ (B) &R Feenmr T

(©) R (D) SETEE YEE

Who led the Bardoli Satyagraha in 1928 ?

(A) Mahatma Gandhi (B) Sardar Vallabhbhai Patel
(C) Subhash Chandra Bose (D) Jawaharlal Nehru

: od .
2021 ¥, L T S T AT R gadt i st v o A A difem weed §

T fear mar | 3
(A) T@ (B) e o3 (© et (D) e

In 2021, Instagram was ranked globally at l position on the Internet in Most Used Soc
Media Platforms Worldwide.

(A) Second (B) First ‘g (©) Fifth (D) Fourth
< 7 forssra ax STmshur shet fomam 2 -

When did China invade Tibet ?

(A) 1952 (B) 1950 (C) 1953 (D) 1949
forerferfiaa # & forer Sfia it STeT QT 31 e Heheoh AT ST & 2

(A) FF3 (B) S oy (C) Hew (D) IR

Which of the following organisms is considered & bioindicator of water pollution ?
(A) Earthworm (B) Zebra *g (C) Frog (D) Lion

afe 19 7188 ‘INFORMATION' & 1, 5, 6W8Wmmmwww@mmwm
A 3 Y158 T YT STET FAT & 2 <]

If you can form exactly one meaningful Engligh ord using the 1%,
‘INFORMATION’, what will be the fourth lettef'o} that word ?
(A) M B) T ©) R (D) I

th _th
57, 6" and gth letters of the wo



97.

101.

102.

103.

D.ZU-24 e sy
“!F '7 ‘.' "‘ -------

R e et & et g e g o 1 bl ]

TR - Y89 9y
(A) &aT$ JET : wnf (N} 4270 AT (Yt g
(C) T : digw (et wfter) (1) amm g
me“ t},]e given options, find the pair whit RE "‘l‘w'" o the piven pai
Projectile : Trajectory ()
(A) Aemplanc S Rn.utc (" Shooting atar /\llmmhha-n.
(C) Ship : Knots ¢ ; (1 Satellite - Orhig
o
I arr ¥ Fyedts we areh ara ) nfa s Al varf, @ R LR CIE R TR SRR AR AR LA
foradia fem aveht nfay @ S0, arfirm 2 :
(A) 4.8 fedht sy s N (1) A0 fapel) ufey vheny
© 5.2 fft s e 1 (0) 4STHEINEN

If the speed of a boat moving against (he current s I8 km/hr, what is the speed of the stream if the bost’s
speed downstream is 50% greater than its gpeed upstream !

(A) 4.8 kmph (B) 4.0 kmph

(C) 5.2 kmph (D) 45 kmph

8 ez 3w 3k mmzti#aﬁaﬁﬁgwmmwt?

What is the area of a triangle with base 8 metereapd height 16 meters !

(A) 32m° B) 128m? E”) © 15m’ (D) 64 m’
Y, XFEARAPFEARIZ, y % Fae it | 7 e A p R
(A) IR (B) aftor-afim o (C) I-afEm (D) aftqor.qd
Y is in the East of X, which is in the East of P. Z‘:l in the North-West of Y. In which direction of Z 18 P 7
(A) North-East (B) South-West [] © North-West (D) South-East
T ST F1d o] | (S
Find the dissimilar number.
9271, 8482, 7633, 6724, 5745.
(A) 5745 (B) 9271 (C) 7633 (D) 6724
ﬁq%ﬁéaﬁ%m-vﬁmm%ﬁﬁt?
Which of the following numbers is different from the rest ?
13,17, 23, 27,29 :’3)
A) 13 B) 17 e
(A) (B) ty (€) 23 ) 27

@;mﬂqﬁm%mzwws()&mﬁfkqﬁmm
, A R | e s A ROT A I WA K
Ti?sm(gﬁmﬁnﬁﬁmmh' I“m%wﬁwom&mmmufamu
; ' (B) 64,15 fafinder
C) 58.15 farime [ ]
(©) @) (D) o815 fanfiater

A man travels the first 200 km of his journey 4
200 km of his journey at 50 km/hr. What is hix ayey, ) km/hr,
ke

(A) 61.53 km/hr
(C) 58.15 km/hr

o Due to bad weather he travels the next
i Peed for the first 400 ki of hix journey ?
O 1S K/

(D) 6N |58 ki



104. % i 1 30 g e g 3503, R A e @ e 3w ey A A A A

106.

107.

108.

foraeht afiv oft » 109. -
afa it '

(A) FH (B) aA i (C) Iuht 3t (D) (

Pointing to a photograph Daisy said, “I have no sisters but that man’s mother is my father’s dau%_

Whose photograph was it ?
(D) Husband’s

(A) Son’s (B) Daughter’s 06((') Her own

0 S ) 37 20 faft ef, e et s gt f0no P s | am e i i gt 3 20 Pl oy
a@wsmﬁ%m?waﬁwﬁ%}a?ﬁlmmﬁmﬁww%? 110.
(A) q;é (B) ufimy Zg(c) ?-'f\m-‘{‘é (D) W"f‘i

Rani went 20 km towards west, then turned left qd went 20 km: She again turned left and went 20 |,

She took a 45 degree turn towards her left and wenll straight. In which direction is she walking now ?

(‘\) East (B) West (C) South‘EaSt (D) NOﬂh-EaSt

e arfersr wfé st 4t é wrdt 3 srpem ‘47@)2938’%%@111%@%%%1

o ' > l_5‘ 7 8 9 4 6 3 1 111.
I M| R|T[B |[W|[K|[D|N]| T
¥Id —
L 3t Een  Tect 3P 3ifem A o forewt s §, A ARt o0 3w i e i T R |
2. A HE % veet SR ifom ST ik T 31 gt G A <20 3 w9 3 i i ST =R |
3. I IEet o sifom sit § & ok forem & of g am 2, o et siw @ QoK Sifew S W Em
4 Fifed w1 R | o3
(A) ZTWMNZ (B) KTMWNZ oY (C) ZTMWNZ (D) KTMWNB
Read the following table and find the relevant cog]for ‘472938’ as per the conditions given :
Digit 2 5 T 8 4 6 3 1
Letter code M R T B V\@ K D N J
Conditions :
1. If both the first and last digits of the number are odd digits, then both are to be coded as ‘S’
2. If both the first and last digits of the number are even digits, then both are to be coded as ‘Z".
3. If one among the first and last digits is odd and the other one is even, then the first digit has to &
coded as ‘Q’ and the last digit as ‘W’.
(A) ZTWMNZ (B) KTMWNZ o (C) ZTMWNZ (D) KTMWNB
o 15, 36, 63,96, 1 sTeh W 3 g )
Find the next number in the series 15, 36, 63, 96, o~
(A) 122 (B) 128 o (C) 135 (D) 145

ﬁqnqwﬁ,ﬁp:%aﬁaﬁrmﬁ%aﬁziﬁ@aﬁmﬁ%?gﬁlm%?ﬁg};}gaﬁ;mmaﬂ
Y JTd |

forpedt & & s  fter oft ¢ dalwr s @ | W fors
e@to the left of the sign :: which are connected in s0™

rd set of letters and one of the four alternatives under it

In the given question, there are two sets of lett
way. The same relationship obtains between the t
Find the correct alternative.

18120 : RAT :: 18914719 : ?
(B)__RINCH (©)_RIMBS ©) RiCH . B
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109. Torsmy gm 3/ Hhifs )

(A) e : fowem 2:1)) ::::
(©) wgan: 3 (&) ol %
Find the odd pair.

(O (B) Cow : Calf

(A) Dog : Puppy v ‘
o (D) Sheep : Lamb

(C) Tortoise : Turtle
110. T IRER A, o @@= p, Q. R § a1 & p ot O R 131, O wfven sz 3 p, o1 gt 9

2 PR i ad s, sﬁu’f%uQ.Tﬂmﬁ?

(A) | B) smft O 3 (D) @7

@ T. P and Q are a married couple, () being the female
eris S. T is the mother of S. How is () related to T 7

(C) Daughter (D) Daughter-in-law

In a family. there are five members P, Q. R, S
member. P is the only son of R, whose only daught

(A) Mother-in-law (B) Sister-in-law
111. mmﬁ-ﬂi@w%wﬁmmmﬂmﬁwm% | USSR Fifaw A

IEF YR W I T I AR | _ o _ o
The following pie-chart shows the percentage gistribution of the expenditure incurred in publishing 2
book. Study the pie-chart and the answer the que@n based on 1t.
&«
o w & . o d
fadl ge 3 e @ 89 a1 A= =/ o/arious Expenditures (in percentage) Incurre
(afasra 7) 4 in Publishing a Book
@ - .
- 108 HZOT ART Promotion\ Printing Cost
SLC] 20% Cost 20% &
10% ’ 4&“‘ 10% i\o‘\@
o
et &(@é o Royalty @95?0 S
15% 15% o
o] O
Paper Cost
Frezat (7] o p
25% o Binding 259%
20% ol 20%
sifa qed AT el @ 40% ik ,
afe; fepeft e 1 ﬁﬁw’fﬂ ’ Rutfea o e &, s sifia e € 280 2, A &
e el i S O X
: & k is set at 40% above the cnee .
If the marked price of 2 back 18 S (Tvt the cost price, and the marked price is T 280, what is the
cost of the paper used in one copy of the book ?
(B) T 60 .
(A) T40 © =30 (D) %50



112, 19 & ¢ 1 e ¥ sr@m v 1 I A |

HDYSMWNBQPOCRTBIL ZVEGUF o
?ﬁﬂﬁmﬁﬂ?&a}maﬂmmﬁmng
(A) B3kQ (B) D3ty eXC) UINF (D) V3RE

Answer the question according to the letter series §}?cn below.
HDYSMWNBQPOCRTBLZVEGUF

Which two neighbours in the given arrangement aLe}anhest in the alphabetical order ?

(A) BandQ (B) DandY Do) vandF (D) VandE

113. TR 3 0 wE &, 40 H = v R, 30 1 FE @ B, 3k 20 7 = i FE A 6 E A B
FaST T T F 8 2

If in a group of people, 40 like tea, 30 like coftee, and 20 like both tea and coffee, how many people |
only tea ?

(A) 20 B) 10 ‘5(0 40 (D) 15
69
¥. 4. 1143 118 Tenivr a5 o

gﬁﬁuﬁmﬁmwwﬁaﬁmﬁmmﬁm%léﬁmmﬁm%mwﬁnﬁﬁaﬁwﬁ%maﬁﬁp
et off 71 gt oft % W i A AR

s v erfr €9 S e (f}

Tehedl g, e 1 T IR Qe G iR

& S, 7 e, 3 & s v e

HERTY il ol Iqeh! i 3rea wart oft

e e & e T g e of

GF TG AEH! q€ 1 gt arelt Tt oft | oi$
114. Fatn i s A E Q

(A) TR (B) aTewea ol &) (C) Jmfget (D) wufifs
115. e ot Hear a8 ot wie et T o ﬁmr:ﬁm%mf%

(A) R (B) e Kt \](C) MR EELL] (D) &g/
116. 3t TeIieT &7 @8 gitden &) @aha 2 : [

(A) Tt T @)(B) 1857 T TT&T

(C) ST T AT (D) HERT FeA aalt

117. @ FHEa A FaE AW e
(A) werd auf (B) GUATANEE () AR (D) e

118. 39 Hiaar § waw frar mar @ @

(A) wf® (B) &0 (C) %M (D) ¥k
119. Ry fawedt § & fayge 1 SfT PA-AT R 2

(A) R (B) faar (€) fongth (D) forgrer -
"""""""""""""""""""""""" Page 20 0f24 TTTTTTTmmmmme



120

123.

124,

125.

126.

127.

128.

129.

130.

131.

132.

133.

134,

121.

122.

135.

3y afera faaer g s |

; ‘@“ﬁ:;;;?:;tsﬂm " ql}l“""d"ql (©) wufvam
(A) T ( sl ——
1987 & ‘m(a;ﬁan'&a%ﬂlmﬂ"‘m = ((')ﬁmﬁt—«;w«w /
(A) faster awf (B s dH m g e
P & & - s T &2 o8 () frz
(A) HH (B) > (D) ram
= F fraA W 2 lwl((,‘) ,
A 3 (B) 4 @ D) 6
U] T ISR T ® : .
(A) &< (B) &3 (C). 3 (D) gt
‘W@mﬁﬁﬁwﬁmm%rmﬁﬁm‘“‘*’WWammg?
(A) WeTEd (B) T (©) wehd (D) Fd=a
A T AT I § o0
(A) T B) fafew 4(} ;’(C) bl (D) 3 F
FaThd § FAE © : off
(A) e (B) IremtE o{iJ(C) FHUT D) f&m
5

Freferfiaa i & fare e i adamed o1 AT gaTT €
(A) Sl gR asEe T | ) qaagﬂaé%mmqﬁwn
(C) ST AR T AT S e e | &) (p) e g TG TR |

Freferfiae i & gt 78 ST

(A) <TEd (B) T (C) HEd (D) AR
‘m.wﬁq@m@’%mmw%z

(A) TR B) frew oy © T (D) dr=H
7R T15E T GHITTHE T8 2 (2

a) ™ (B) STHHR o (©) et (D) fadieg
ofi Y T (FETY) & TR E : o0

(A) €. 3T (B) USIZ AR “J(C) fisy gret (D) A FAR
i i & e ard-fm g & 2 L]

@ () ® ) Qo ) ® (1
‘gﬁy__gﬁy’aﬁizqgnxiﬁTIigTﬁiaﬁ?Iigﬁhi:

(A) GHTH =TT (B) IR g © oS (D) S-S
Ereffaa & & AT % Y% §9 1 591 R

(A) ﬁnﬁaﬁtmmgl B) 1y 7 v FATE

(C) o W (D) & i e ST LU

' D.7U-
ZU-24 Page 21 of 24



136. ‘3T - vy’ R-JH FTEAR HA B | e
(A) fnfa et (B) ®aT- AT (C) WG — TG (D) @

137. SR T 779 R -

odl

(M) TERdTEE  (B) sREAREE () swemd (D) FEAI
138, T T yroa.am o o B o

(A) =9F - T (B) W vz 08 () e wFEz (D) FREE T
139. -3y - =fir wreg-ggm | ~anfer a7 aref \‘ AR :

(A) HHfE HF (B) 3Tu § © T (D) STl
140. T T Y eafaa o1 IENT A -

(A) T (B) 3 ©) TE= (D) dreTd
141. ‘98 TGN 2, Fifeh 98 TR |’ 39 199 § -7 (7T £ 2

(A) SRuTHETEE (B) H&EEEF (C) H¥haaras (D) FRIETIH

142, o = g g mﬁwﬁﬁﬁ&wn%ﬂ%ﬁﬁmm%:
(A) sl et (B) fommife sei@R 5 (C) T etk (D) faaman sTEFR

143. Pt & R 8o e e 3 e e s e 2 2

(A) Fmr (B) fawm q© TS AT (D) afee
144, “TETS’ ¥165 1 HEl Tga= &9 T fashed Y=g | _

(A) zarEr (B) gargAl @ () =t (D) Tagat
145. o R FEd & 2 .

(A) @ (B) FSHI & &g Hl

(C) TUil & Fafead |YE ! (D) VT o ITTRVT T

146, T SEAT” HETa 1 Tt 31 1R ?
(A) aﬁm'@m (B) am#lmﬁgrﬁmo(C) mﬁaqu‘m (D) i afesm &

147, “ET 1 @ S T SST ST 2T 87 mfaﬁrzﬂ%aﬁaﬁﬁs%.

(A) WERATRER od (B) SR 9 ST @1
(C) TRt off Tt Frebrerad O A 7 T S
148, referae 3 & Rrdor yree L]
(A) S (B) e @ () g= (D) #H
149, 3 ey 3 offrT el €T & 1 o e BT ST R 2
(A) AN (B) YR I¥
(C) Iam 3 o qe I (D) 3= T&W
150. faifa i Raarya g 2
(A) (B) 3% (C) ™| (D) 3d ’
DzUad T T T e g ot 24T



